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1.1 

 
Im Dreieck AB1M gilt: 

 
             AM       

cos φ = ----- | * AB1 

             AB1      
 

AB1 * cos φ = AM | :cos φ 
 

             AM         4 cm    
AB1 = ------- = --------- = 6,81 cm 

           cos φ     cos 54°  
 

1.2 

 

V(φ) = VKegel - VHalbkugel   
 

Im Dreieck AB1M gilt: 
 

             B1M       

tan φ = ------ | * AM 
             AM      

 
B1M = AM * tan φ = 4 * tan φ 

 
            π * MB1² * AM      π * (4 * tanφ)² * 4       64 * π * tan² φ 

VKegel = ------------------ = ----------------------- = --------------------  cm³ 
                      3                              3                             3 

 
                (2 * MC)³ * π       (2 * 2)³ * π       64 * π       16 * π  

VHalbkugel = ----------------- = --------------- = ---------- = -------- cm³ 
                         12                      12                12              3 

 
           64 * π * tan² φ      16 * π      16 * π 

V(φ) = ------------------- - --------- = -------- * (4 * tan² φ - 1) cm³ 

                      3                   3              3 
 

1.3 

 

       16 * π  
V = --------- * (4 * tan² 54° - 1) = 110,15 cm³ 

           3 


